Wall Mount Open Frame Rack Series

RSWR-9UO01A/ 12U001A

User Manual

We'll continue to improve the user manual and update it on Rosewill.com,
any feedback from you will be appreciated.



®
gsosewill Wall Mount Open Frame Rack rswr-9U001A/ 1200014 User Manual

Section 1: Parts Identification

Item Description Qty
A Wall mounting frame 2
B Depth adjustable transverse support 2
C Swing frame 1
D M6 Screws 12
E M6 flange nuts 12
D E

M6 Screws (x12) M6 Flange Nuts (x12)

Tips: Check the quantities of the items before assembly
1



®
gsosewill Wall Mount Open Frame Rack RsWr-9U0014/ 12U001A  User Manual

Section 2: Rack Assembly

2.1 Install the A and B

Secure the 2 wall mounting frames (A) and 2 depth
adjustable transverse supports (B) using 12 M6 large flat
head screws (D) and 12 M6 flange nuts (E) as shown in the figure.

2.2 Install front swing frame

Secure the swing frame (C)to the built frame by inserting the bolt
onthe swing frame into the corresponding hole.




®
osewill

®
%’M"E Technical Support Information
techsupport @rosewill.com 1-800-575-9885

Thank you for purchasing a quality Rosewill product.
Please register your product at: www.rosewill.com
for complete warranty information and support for your product.



